UNIT 1 – Integer Operations
Integers - positive and negative whole numbers (NO fractions or decimals)

            0 is neither positive nor negative
 Opposites – 2 numbers that are the same distance from zero but on different sides of zero
Absolute Value – distance a number is from 0 on the number line; always positive

     Symbol               ex.      6   =  6        -4    =    4
ADDING INTEGERS
Adding when signs are the same:

Add the absolute values of each number  (add numbers as though they are all positive)
Keep the original sign  (if both numbers are positive, answer is positive;  if both numbers are negative, answer is negative)     (remember – no sign = positive)

        ex.      -8 + (-3)           8 + 3 = 11,  since both numbers are negative the answer is  - 11


        12 + 5           12 + 5 = 17  since both numbers are positive the answer is  17

Adding when signs are different:
1) Subtract the absolute value of the smaller number from the absolute value of the larger number  ( subtract numbers as though they are both positive, large number – small number )
2) Keep the sign of the number with the larger absolute value  ( did you have more positives or negatives in the original problem – keep sign of whichever you had the most of)
 ex.        -5 +  6            6 – 5 = 1,  since 6 is larger than 5 and 6 is positive, the answer is  1
     -15  +  7             15 – 7 = 8,  since 15 is larger than 7 and 15 is negative, the answer is  - 8
Adding when you have more than 2 addends:         

You have 2 options:

1)  Add 2 numbers at a time

ex.     -4 + 6 + (-7) + 4







   2    +  (-7)  +  4

or





       -5    +  4  =  -1
2)   Add all positive numbers together


ex.    – 4 + 6 + (-3) + 7

      Add all negative numbers together



6 + 7 = 13

     Add the positive sum and the negative sum

            -4 + (-3)


   







-7  + 13  =  6      
SUBTRACTING INTEGERS 
**CHANGE ALL SUBTRACTION PROBLEMS TO ADDITION PROBLEMS** 

We don’t want to memorize a whole new set of rules, so we change all subtraction problems to addition problems and us the rules we already know.

“Keep-Add-Inverse”     
       1) KEEP the first number the same

          2)  ADD - Change all subtraction signs to addition signs
          3)  INVERSE - Change the sign of the number directly after the subtraction sign
                                  ( this is the inverse)
          4)  Solve the new addition problem
Ex.   6 – (-2)            6 + 2 = 8  so…. 6 – (-2) = 8          
Ex.   -5 – 6            - 5 + (- 6) = -11  so….. -5 – 6 = -11

MULTIPLYING & DIVIDING INTEGERS
1) Multiply (or divide) integers as though they were both positive numbers

2) If the signs are:  
     same (both positive or both negative) the answer is always positive
   different (one positive/one negative) the answer is always negative
ex.     2(8) = 16
      signs are the same

20 ÷ (-4) = -5    signs are the different
        -10 ÷ (-5) = 2       so answer is positive
          -4(3) = -12          so answer is negative

